H & 0l & AHS B Ml A

20243 = 204 LBHSIH M|
A SAZED
M HY2IZH(ZAISED
CHR: CIER9H|(TAI2D) (CH9: /M)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
SAISE 7,655,073 8,379,455 AT24,382
= 365,581
Al 926,363
- 6,363,129
HY2AZHI(SAISJ D) 361,542 340,769 20,773
IA2AHI(SAIS21) 335,358 313,025 22,333
AR HH|(ZAIS3D) 335,358 313,025 22,333
101 el t| 301,443 281,367 20,076
03 SRH(RINHS) 22X 2+ 301,443 281,367 20,076
OFNEHEJA(ZNSHS 1Y) 56,773
—JlE2= 2,813,270 1B+ 122 33,760
— A2
15,670& *1.5x30A| 2t 1B+ 12& 8,462
—olRRE4g
15,6703 x8A| 2F+ 12+ 15 1,881
—=4ldl 140,000 x1F + 122 1,680
—GEIOHI 1,687,960 *23|x 1% 3,376
—d2=E 2,813,260&*1H 2,814
—§&224| 70,0003 x 1« 12& 840
—FEsY 140,000 x1H* 123 1,680
—E= 80,0003 x1H 123 960
-3 110,000& x1E x 122 1,320
OANES22| 2 (A 4H) 244,670
=Jl23 2,488,303 4 12& 119,439
—AZtel=g
14,6502 *1.5+20A| 2+ x4+ 12 21,096
—AXRESE
14,6503 *8A| 2H4H 15 7,032
—F22SE
14,6502 *1.5%8A| 2+ x4 H+60 42,19
—=4ldl 140,000 4B+ 122 6,720
—GEIOHI 1,492,978 %23 x4H 11,944
&Y 1,215,820&*23]*4H 9,727
—&20t3 77,5003 x4« 12& 3,720
— 22| 70,0003 x4H«12& 3,360
—=22(| 120,000 x4 = 128 5,760
—Ese 140,000& x4F 122 6,720
e 120,000 x4 H 123 5,760
— X MG 50,0003 =2« 12& 1,200
M AIZRE3S 33,915 31,658 2,257
M SRAE(RINHS) 22X BE28E2 S 33,915 31,658 2,257
O8FNEHSA(ZNSHS 1Y) 6,388
—HgZRE=3 56,773,000 *4. 5% 2,555
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A ZAISEL
M ghsael ¥ J2xd
Sl S 28 (crel ®2l)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- 360,000
401 AIEHIX 20 700,000 0 700,000
Al 360,000
= 350,000
01 Al 700,000 0 700,000
OBEAITAl 27 IR 0RIZE £4
Ard 700,000,000 700,000
Al 360,000
T 360,000
SE =2 3,833,185 1,909,5% 1,923,589
Al 200,000
- 3,633,185
d=A 72 3,654,081 1,716,668 1,937,413
Al 200,000
- 3,454,081
SE=X !FA2e 2,932,081 844,668 2,087,413
201 er23| 223,248 63,900 159,348
01 At2tltl 4,500 2,500 2,000
Odit==H| 4,500
—sddc] EES M
70,0002 * 100K 700
—HRE g7 1,700,000 1,700
—2I33 =& 78 x32|%100,000& 2,100
2 s5=g4l 218,748 61,400 167,348
O8&82= € MA 218,748
—=3 dJIgs 10,500,0002 x 12& 126,000
—3E dot=Rs
7,500,000 «12& 90,000
—H&e Sues
(16,500 *200H+4& )+(8,5002 140« 12& )
2,748
203 HR=H] 850 950 2100
03 A= PR FAI| 850 950 A100
Osddel gf=xd 1,000,000 *85% 850
308 AtAIEHMSOIE 2,707,983 779,818 1,928,165
18 S| 2SS ZB XA AIE 2,707,983 779,818 1,928,165
Osd2c| EF A
2,707,983,000& 2,707,983
SE=R =AIEHIAY 120,000 120,000 0
401 AlEHIZL S0 120,000 120,000
01 Al&H| 120,000 120,000
OZ &= =AZHIAL
120,000,000 120,000
SE=A SEd? G589 60,000 60,000 0




A ZAISEL
B =Kz
el SESK =7A2e (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 21201 & 60,000 60,000
05 DiZkelera 60,000 60,000
OBA=T 29 o8
60,000,000& 60,000
SE=SA 22 UMY 40,000 0 40,000
401 AlEHIL 2] 40,000 40,000
01 Al&H| 40,000 40,000
OB=N 242 UMY
40,000,000 40,000
OIEHAIEl MISS3 ZEAMY 280,000 0 280,000
Al 140,000
T 140,000
401 Al HIZ 2018 280,000 0 280,000
Al 140,000
- 140,000
01 AlZH| 280,000 0 280,000
OOBIEAIEl M3 ZEAME 2AIEAHES
280,000,000& 280,000
Al 140,000
- 140,000
AZ20| AME ZEAY 80,000 0 80,000
401 Al HIZL S 0HYI 80,000 80,000
01 Al&HI 80,000 80,000
OAZZ)| MHZ A
80,000,000& 80,000
SEAEAl B AMZ HHIALY 22,000 22,000
401 AIEHIX R0 22,000 22,000
01 A28l 22,000 22,000
OZSIEAl Z&=X A FHIAMY &
Al 22,000,000& 22,000
ZH Y| 120,000 0 120,000
Al 60,000
- 60,000
401 Al HIZL 201 120,000 0 120,000
Al 60,000
- 60,000
01 Al&H| 120,000 0 120,000
O=ZNZAL(SE L) £X
120,000,000 120,000
Al 60,000
- 60,000
g dHss2 29 179,104 192,928 13,824
FLE dysisa 24 179,104 192,928 13,824
201 2= 11,104 11,588 N4BA




2A: SAIS2
Hal: DA=X 2

el FEE dussa 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 6,616 7,244 628
Odit==H| 2,842
—MoISE FY 2,300+ 1601~ 122 442
—MEjStE B BRIRE 7Y
2,400,000 2,400
Oogxz 3,774
—d=J| Sx= 98,0003 *1CH =123 1,176
—3J188J| Ex= 166,030& * 12 1,993
—QIHuRs X= 50,4002 122 605
2 S22l 4,488 4,344 144
OAIZ &I R XY 4,488
—HoINE(MB) ==8 1,848,000& 1,848
—ABOIERR| (ELLR
132,000& * 122 1,584
—@IotE TRl AL
88,000& * 122 1,056
307 elztol & 150,000 150,000
05 2ItRIE =2 150,000 150,000
OSCaMEsaR T2 2oA
150,000,000 150,000
401 AIEZHIX S0 18,000 30,000 A12,000
01 A28l 18,000 30,000 A12,000
Odtstsd +=Aldultl 18,000,000& 18,000
AHItset agita &d 2,568,798 4,871,630 N2,302,832
= 365,581
Al 371,363
- 1,831,8%4
tExd & 25 1,261,444 1,891,716 AB30,272
= 365,581
Al 371,363
- 524,500
A EXICHE THEHANE 2| (4 4,125 4,125 0
= 1,650
Al 743
- 1,732
201 fer23y| 2,303 2,303 0
= 921
Al 415
T 967
01 At2teltl 2,303 2,303 0
OdtEdzl SAMH| 7,000& 3292 2,303
= 921
Al 415




2A:

ZM: 2Ihse AANE X
oSl MEZH U 85 (ol m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- 967
202 04| 1,822 1,822 0
= 729
Al 328
- 765
01 2L AL 1,822 1,822 0
Ott=sld 50| 20,0002 +91. 12 1,822
= 729
Al 328
- 765
AS XY THLtara2e|(XHeE) 2,080 2,045 35
= 832
Al 374
- 874
201 Ler=23| 2,080 2,045 35
= 832
Al 374
- 874
2 352484l 2,080 2,045 35
Ott=2ZAIE RAXIZRIAIAE
130,000 = 16CH 2,080
= 832
Al 374
- 874
ASYUXIHE ZSHEHIEE(Z 4 16,267 15,267 0
= 6,107
Al 2,748
- 6,412
201 2egh=3| 15,267 0 15,267
= 6,107
Al 2,748
- 6,412
01 At22t2l] 16,267 0 15,267
OJHeI & SHEH 1,017,800 1574 16,267
= 6,107
Al 2,748
- 6,412
AT SUSA2S(HY) 2,400 0 2,400
= 960
Al 432
- 1,008
405 AtatE = 2,400 0 2,400
= 960




2A:

X XH -
o=

chl: E] (=CR-E))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 432
T 1,008
01 AL =S F = 2,400 0 2,400
ORdsSAUEHI(TINE) 800,000 =3CH 2,400
= 960
Al 432
- 1,008
SrETHGH Xt EDI(AES X201 &I SHTH) 227,102 221,777 5,325
= 90,841
Al 40,878
- 95,383
101 e124d| 221,223 215,889 5,334
= 88,489
Al 39,820
- 92,914
04 JIZtN2Z2XNS 2+ 221,223 215,889 5,334
Ott=dZuZasl lAt|
14,198,42832 « 14 198,778
= 79,511
Al 35,780
- 83,487
Ottsdz0gdsl 282
1,203,2142 «14Y 16,845
= 6,738
Al 3,032
- 7,075
OLELTSAL 285
400,000 14H 5,600
= 2,240
Al 1,008
- 2,352
201 Ler23 | 5,879 5,888 A9
= 2,352
Al 1,058
- 2,469
01 At22t2l] 4,800 4,811 A
Ot = ESHE SR=
4,800,000 1CH 4,800
= 1,920
Al 864
- 2,016
2 S52g4l 1,079 1,077 2
Ot =g ESIHE FFHI
1,079,000 = 1CH 1,079
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2A:

ZM: 2Ihse AANE X
oSl MEZH U 85 (ol m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 432
Al 194
- 453
2etEoliE YK 49,907 58,564 18,657
= 26,376
Al 7,059
- 16,472
401 Al HIZ R OHHI 49,907 58,564 A\8,657
= 26,376
Al 7,059
- 16,472
01 A28l 49,907 58,564 A8,657
Odtdgoi S (LS )R
49,907,000 49,907
= 26,376
Al 7,059
- 16,472
AURTHESE LHI(0ILLERFAL 8,559 14,964 6,405
= 7,080
Al 444
- 1,035
401 AIEHIX SO 8,559 14,964 26,405
= 7,080
Al 444
T 1,035
01 Al&H| 8,559 14,964 26,405
OAUPHEASYE LM (MLLIRFAN
8,559,000& 8,559
= 7,080
Al 444
T 1,035
AAFEIFH XS X E 9”3 29 1,000 1,000 0
201 Ler=23 | 1,000 1,000
01 AtR2telHl 1,000 1,000
OMAEIZ XIS NIB SRS &aSe
100,000 *12]%10H 1,000
APALERF QX A 22| (AFEAL) 81,000 40,500 40,500
= 56,700
Al 17,010
- 7,290
401 AIEHIX R0 81,000 40,500 40,500
= 56,700
Al 17,010
- 7,290




2A:

ZM: 2Ihse AANE X
oSl MEZH U 85 (ol m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 81,000 40,500 40,500
O&LXIAFEAFS 81,000,000 81,000
= 56,700
Al 17,010
- 7,290
OIMIZHA S=IH] 203,400 406,800 A203,400
= 101,700
Al 30,510
- 71,190
401 Al HIZL S 0HYI 203,400 406,800 A203,400
= 101,700
Al 30,510
- 71,190
01 AlZ8| 203,400 406,800 203,400
OO0IMZXINZ SA=IHI A
203,400,000 203,400
= 101,700
Al 30,510
- 71,190
L XL (X2) (HEALY) 250,000 200,000 50,000
Al 162,500
- 87,500
401 Al HIZL 201 250,000 200,000 50,000
Al 162,500
- 87,500
01 Al&H| 250,000 200,000 50,000
=2 (S42) FHIAMY 250,000,000 250,000
Al 162,500
- 87,500
AEMHIAE R0l 28 X3 (HEAY) 88,200 85,962 2,238
Al 57,330
- 30,870
101 e124d| 88,200 85,962 2,238
Al 57,330
- 30,870
M ORIMZZ2NSE S 88,200 85,962 2,238
OMEMHIAERDI(ZZ SAXIEAL
29,400,000& *1H 29,400
Al 19,110
- 10,290
OMEMHIAER0I(EAISTI 22 )
29,400,000& 2 58,800
Al 38,220
- 20,580




2A:

ZM: 2Ihse AANE X
oSl MEZH U 85 (ol m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
=B NEE L) 56,734 55,382 1,352
201 er23 | 39,439 34,432 5,007
01 AlR 21| 13,570 10,870 2,700
OYp+2H| 10,370
—dgne 222 A
70,0002 *400HK 2,800
—dtg2e] 237 300,000 * 122 3,600
—atgzte| Mg S5(50L) 7L
1,540 2001~ 123 370
= =t 600,000 600
—4&H T8 Al 3,000,000 3,000
On=ti(atgd2eld)
150,00021 %28 +42S 1,200
OYURE(ZH) 500, 00024 43| 2,000
2 BTS2 25,869 23,562 2,307
OB3R3 7,069
—4&E AE JII93 450,000 %1284 5,400
—CCTV Sat| 96,8002« 128 1,162
—&hE 8 22| SUH
21, 1258=201~ 128 507
OA&EHISTH 5,800
—A72 AlEE SNEL
5,000,000& 5,000
—JIHEH RS 2,000 =50 =30 300
—J|HEHl | 500,000 500
O eI 13,000
—283ER 2,500,000 *3CH 7,500
—U=8sEx 2,500,000 1CH 2,500
—&HH IR 1,000,000 «3CH 3,000
203 HR=AH] 850 950 2100
03 A= PR FAI| 850 950 A100
Ol - ARlEe| Yes
1,000, 0002 *85% 850
206 M=H| 14,000 20,000 26,000
01 M= Hl 14,000 20,000 26,000
OXBTM(HIE, 24M 8) 7L
14,000,000 14,000
405 AHaHE = 2,445 2,445
01 It =S F=H 2,445 2,445
—&J|Exdl 7Y 2,445,000 1CH 2,445
SE 4 22l 50,000 50,000
401 Al HIYL S CHYI 50,000 50,000
01 AlZH| 50,000 50,000
O==AlIEHIHI 50,000,000 50,000
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A ZAISEL
ZM: 2Ihse AANE X
el AREES U 25 (ol m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
HEA SAE LA 15,000 6,000 9,000
401 Al HIZL 201 15,000 6,000 9,000
01 Al&HI 15,000 6,000 9,000
O 24t SAAE gAY Al
15,000,000 15,000
oiertla sXl2tel 60,000 60,000
401 AlZHIZ SO 60,000 60,000
01 A28l 60,000 60,000
O==AlZHlHl 60,000,000 60,000
R0tz 29 2l 88,002 85,998 2,004
= 44,001
Al 30,801
- 13,200
307 21201 & 88,002 85,998 2,004
= 44,001
Al 30,801
- 13,200
05 2I2+RIE =S 88,002 85,998 2,004
OR0tE 2Y22(KO0IEXTA
88,002,000 88,002
= 44,001
Al 30,801
- 13,200
=old 28 2l 58,668 57,332 1,336
= 29,334
Al 20,534
- 8,800
307 el2to| & 58,668 57,332 1,336
= 29,334
Al 20,534
T 8,800
05 2IMRIE S 58,668 57,332 1,336
O=sdlld 2d2el(=dlet)
58,668,000& 58,668
= 29,334
Al 20,534
T 8,800
SEMAS 2S5 22 5,000 5,000 0
SHMLS 285 2 5,000 5,000 0
201 fer23| 5,000 5,000 0
01 AtR2t2lHI 5,000 5,000 0
OBSMY B2UE S8 NHEY 248
2,500,000& *23] 5,000
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2A:

g NHtss MEE =4
Rl ZAlsE &4 2 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SAl=ssE =4 & 22 1,302,354 2,974,914 1,672,560
Al Jlg A 19,840 22,400 22,560
201 Zet=E] 1,440 2,400 2960
03 A= SHI 1,440 0 1,440
OAl=g g &AL 1,440,000& 1,440
206 MH=H| 17,500 20,000 22,500
01 M=4l 17,500 20,000 22,500
OAl=g gAE == 7Y
35,0003 %2005 7,000
OUR LEF0UZFI] &AL
5,000& %2, 100 10,500
301 EtE N = 900 900
11 dALEBIXNIE S 900 900
Oal=d JIg At 450,000 450
O=s82 & 18 &At 450,000 450
CAl=s |2l 15,114 14,514 600
201 =3 11,514 14,514 A3,000
01 At22t2lt] 7,638 7,638 0
Oget=ZH| 6,978
—CAIsERA2e EE2E M
70,0002 * 100K 700
—TAl=sgtiRA2e] E3 7Y
500,000& * 128 6,000
—CAIsERIZe X0 S5 7Y
1,5402 150112 278
ORIz (SXIZelA E==D1)
55,0002 123 660
02 S3=gl 3,876 6.876 A3,000
O=sR2= 876
—2gE] SUL= 33,0002~ 128 3%
—28XE] =ER3 10,0002« 12& 120
—2gX] dIKks 30,000& ~12& 360
OAIZ2Z =X 3,000
—SAl=sg2el JIHEE] RF0H
250,000 * 122 3,000
405 AHAHE S 3,600 3,600
01 AL =S F=HI 3,600 3,600
OLte 2el Z2] 2
3,600,000 *1CH 3,600
Jtl2=Xl Laf2elSA 767,400 1,110,000 342,600
401 AlZHIZ 2018 767,400 1,110,000 342,600
01 A28l 767,400 1,110,000 A342,600
o=l =HEA & 2AcISA
126,000,000& 126,000
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2A:

g NHtss MEE =4
Rl ZAlsE &4 2 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OJt2=Al & &g A2 89
130,000,002 130,000
OJZ=X HaHE LHBA
160,000,000 160,000
OINZ=R MZ=SA 321,400,000 321,400
O==AlIEHIbI 30,000,000& 30,000
24 HXISAH 60,000 150,000 290,000
401 Al HIZ S 0HbI 60,000 150,000 290,000
01 Al&H| 60,000 150,000 /90,000
Otz HXSA 60,000,000& 60,000
24 HFEE HESA 90,000 100,000 10,000
401 AlZHIZ SO 90,000 100,000 10,000
01 A28l 90,000 100,000 10,000
Oz dF2E HESA
90,000,000 90,000
SX2elAb aEa & F10 EXISA 50,000 0 50,000
401 Al HIZL 01| 50,000 50,000
01 Al&H| 50,000 50,000
O=X2clAt 2t&a & 1) EXISA
50,000,000& 50,000
S3cl ==& & JHIAg 300,000 300,000
401 Al HIZ S OHHI 300,000 300,000
01 A28l 297,840 297,840
Os&el d=+=2% &H FHIAL(FF0
Oll &) 297,840,000 297,840
03 Al 20HHI 2,160 0 2,160
Osgcl di+=2% &8 FHIAI(FUE
ol &) 2,160,000 2,160
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